
DAILY BASIS ASSIGNMENT 

          DAY: TUESDAY                CLASS: V                    DATE:28.04.2020  

         

  SUBJECT: ENGLISH 

 

I. Choose the correct answer that identifies the noun in the sentences. 

 

1. The Brooklyn Bridge was opened in 1883. 

a. Bridge 

b. Was 

c. Opened 

d. In 

2. Sparta and Atnens were enemies during the Peloponnesian War. 

a. And 

b. Were 

c. During 

d. War 

3. Sharks and lampreys are not true fish because their skeletons are made of 

cartilage rather than bone. 

a. True 

b. Because 

c. Their 

d. Bone 

4. Joe, have you met your new boss? 

a. Have 

b. Met 

c. Your 

d. Boss 

5. Geeta’s parents tried living in the north, but they could not adapt to the cold. 

a. North 

b. But 

c. Not 

d. Adapt 

 

SUBJECT: EVS 

 I.  CHOOSE THE CORRECT ANSWER     

  1. The baby plant is also known as 

       a) embryo       b) cotyledons            c) seed coat                 d) all of them 



2. The process by which a seed develops into a seedling is called 

       a) dispersal           b) growth                 c) development          d) germination 

3. A seed requires to germinate 

       a) air                       b) water                     c) warmth                 d) all of them 

4. Some plants reproduce through seeds like structure called 

       a) root              b) spores                     c) seed                   d) stem 

5. The main function of cotyledons is to provide 

      a) water                  b) protection                 c) warmth                 d) food 

 

SUBJECT: MATHS 

 

I. Choose the correct answer. 

1. When a number is subtracted from itself, the result is ............. 

a) 1         b) 0         c) 2          d) same number 

2. When ........... is subtracted from any number, the difference is the number itself. 

a) 1         b) itself      c) 0          d) -1 

3. When 1 is subtracted from any number the difference will be the .............. number.  

a) 0        b) itself       c) next        d) previous  

4. 4632314 - 1 = ......................... 

a) 4632313   b) 4632314   c) 4632315     d) 0 

5. 36946 -36946 = ................ 

a) 36946     b) 0         c) 1          d) 36945 

 

SUBJECT: COMPUTER 

 

I. Choose the best options from those given below: 

i) __________ helps us to draw and colour pictures 

(a)  MS Word   (b) MS Excel       (c) MS Pain    (d) MS Access  

ii) Even the most advanced computer cannot work by itself without   

(a) Firmware  (b) Liveware     (c)  Software    (d) Hardware 



 

iii) The hardware perform a task only when told to do so by the 

(a) Programmer (b) Developer      (c) Input            (d) Software 

iv) The physical component of computer that we can see and touch are called   

(a) Hardware      (b) Software     (c) Liveware    (d) Firmware 

v) Operators, programmers, software engineers etc. are the examples of  

(a) Liveware  (b) Firmware      (c) Developer     (d) Both (b) and (c) 
 

ह िंदी असाइनमेंट 

                

I. नीचे दिए गए बहुदिकल्पीय प्रश्नों का सही उत्तर चुने । 

प् रश्न 1)  स्वर वर्णों की संख्या ककतनी है ? 

क) दस               ख) ग्यारह            ग) पााँच            घ) आठ 

प्रश्न 2) व्यंजन वर्णों की संख्या ककतनी है ? 

क) तैंतीस        ख) बाईस           ग) बीस           घ) तीस 

प्रश्न 3) ‘ साथ में पढ़ने वाल े‘ वाकयांश के ललए उपयुकत एक शब्द कया होगा ? 

क) सहकमी          ख) पाठक            ग) सहपाठी          घ) पढाकू 

प्रश्न 4) अमतृ का ववलोम शब्द कया होगा ? 

क) प्रदान              ख) ववष            ग) ववषैला           घ) जल 

प्रश्न 5) ‘  वह फल खा रहा है ‘ ददए गए वाकय में से किया शब्द अलग करें ? 

क) फल              ख) वह             ग) रहा है         घ) खा रहा है 

 
 

विषय – सिंस्कृत   
   
 

गदयांश को पढ़कर ननम्नललखखत वैक्पी प्रश्नों के उत्तर दें –  

अकारान्त पुल्लंग शब्द – ‘ अ ’ से अंत होने वाले शब्द ‘ अकारान्त पुल्लंग ’ शब्द कहलाते हैं एवं लजन 
शब्दों से पुरुष जानत का बोध हो उसे पुल्लंग कहते हैं । जैसे – राम , देव , बालक इत्यादद । 
   
   इनका रूप इस प्रकार चलता हैं –  



       एकवचन   द्वववचन   बहुवचन  
  राम :    रामौ     रामा :   
       बालक :   बालकौ          बालका : 
 
ननम्नललखखत प्रश्नों के उत्तर दें –  
1. ‘ अकारान्त ’ शब्द ककसे कहते हैं ? 
(क) ‘अ’ से अंत होने वाला   (ख) ‘उ’ से अंत होने वाला   (ग) ‘इ’ से अंत होने वाला  
(घ) ‘ए’ से अंत होने वाला 
2. ‘ बालक ’ कौन सा ललगं हैं ? 
( क ) पुल्लंग ( ख ) स्रीललगं ( ग ) नपंुसक ललगं  ( घ ) उभयललगं 
3. ‘ राम ’ का द्वववचन कया होगा ? 
 ( क ) रामे        ( ख )  रामौ   ( ग )  राम :             ( घ ) रामा : 
4. ‘ देव’ का बहुवचन होगा –  
 ( क ) देवौ        ( ख ) देवा :       ( ग )   देवे               ( घ ) देव : 
5. ‘ बालौ ’ कौन वचन में हैं ? 
( क ) एकवचन  ( ख ) द्वववचन  ( ग ) बहुवचन  ( घ ) इनमें से कोई नह ं 
 
   ________________________ 
 
 

 
 

 

 

 

 

 


